
4

3

3

7

5

2

6

1

4

ITEM QTY PART NO. DESCRIPTION NOM

1 1 10329 3/8" NUT ECROU 3/8"

2 1 10332 3/8" INSERT INSERT 3/8"

3 1 25610-20 STANDARD CHLORINATOR ASSY ENSEMBLE CHLORINATEUR STANDARD

4 1 27937 SYSTEM ADAPTOR CHLORINATOR ASSY SYSTEME ENSEMBLE ADAPTEUR CHLORINATEUR

5 1 BU10330 SLEEVE (3/8" TUBE) OLIVE

6 1 BU12977-01 O'RING -015 JOINT TORIQUE

7 1 BU13244 BRINE LINE FLOWCONTROL ADAPTER ADAPTATEUR BLFC

Rev.B

CHLORINATOR SYSTEME / BLFC ADAPTER ASSY STD Chap-02

23/10/07

27935


